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QUESTION 1

-- Exhibit -[edit policy-options policy-statement my-policy] 

user@router# show 

term 1 { 

from { 

route-filter 192.168.0.0/16 orlonger; 

} 

then accept; 

} 

-- Exhibit -Referring to the exhibit, which three networks match the policy? (Choose three.) 

A. 192.168.0.0/16 

B. 192.168.0.0/15 

C. 192.168.65.0/24 

D. 192.167.0.0/17 

E. 192.168.24.89/32 

Correct Answer: ACE 

 

QUESTION 2

You are asked to change the cable on interface ge-2/1/3. Which statement is correct? 

A. The cable is found on FPC 1, slot 3, and port 2. 

B. The cable is found on slot 1, port 2, and FPC 3. 

C. The cable is found on port 3, FPC 2, and slot 1. 

D. The cable is found on FPC 1, slot 2, and port 3. 

Correct Answer: C 

 

QUESTION 3

What is the central processing component of the forwarding plane? 

A. PFE 
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B. RE 

C. Junos OS 

D. forwarding table 

Correct Answer: A 

 

QUESTION 4

What represents the decimal equivalence of 11100111? 

A. 195 

B. 223 

C. 230 

D. 231 

Correct Answer: D 

 

QUESTION 5

Which two statements are true about the primary address on an interface? (Choose two.) 

A. It is the address used by default as the local address for broadcast and multicast packets sourced locally and sent
out of the interface. 

B. You use the primary address when you have multiple IP addresses belonging to the same subnet on the same
interface. 

C. It can be useful for selecting the local address used for packets sent out of unnumbered interfaces when multiple
non-127 addresses are configured on the loopback interface. 

D. By default, the primary address on an interface is selected as the numerically highest local address configured on the
interface. 

Correct Answer: AC 
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